Algebra Review Exercises and Solutions




For BCF 101 (Fundamentals of Cost Analysis)

NOTE:  At a minimum, students should be comfortable with this level of algebra BEFORE attending BCF 101.  There is an additional math tutorial on the DAU’s Continuous Learning Center (CLC) under CON 104 for you to review.  For further details, please contact the BCF 101 course manager.

Evaluate.

1.  3a, for a = 5


3(5) = 15
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2(20)  =  5
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16 + 5 = 7
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5.  10 - y2, for y = 5


10 – 52   =  10 – 25 = – 15
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=  – 10 + 52  
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=  – 10 + 52   
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=  – 10 + 25 
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=  – 10 + 5


=  – 5
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For BCF 101 (Fundamentals of Cost Analysis)

Multiply.

7.  6(3x + 5y)


=  18x + 30y

8.  8(5x +3y – 2)


=  40x +  24y – 16

Simplify.

9.  
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 =  5
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10.  
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=  9   OR   2 1/4 OR   2.25

                4            


Perform the indicated operation and, if possible, simplify.
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=  16  +  15

36 36

=  31
    36 
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15.  Classify as true or false:  -8 ≥ 8

16.  Classify as true or false:  0 ≤ -1.
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17.  Find the decimal notation:  
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18.  Find the absolute value of:  |-1|

19.  Find -(-x) when x is -5

Simplify.

20.  4 + (-7)

21.  
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22.  6 + (-9) + (-8) +7

23.  -3.8 + 5.1 + (-12) + (-4.3) + 10

24.  -3 - (-7)

25.  
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26.  -3.8 - 4.1

27.  -9 · (-6)

28.  -2.7 (3.4)
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32.  -5.1 ÷ 1.7
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34.  │-3 ∙ 4 - 12 ∙ 2| -8(-7)

35.  │-12(-3) -23 - (-9)(-10) |

36.  120 - 62 ÷ 4 ∙ 8

37.  (120 - 62) ÷ 4 ∙ 8

38.  (120 - 62) ÷ (4 ∙ 8)

39.  
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Combine like terms.

40.  11a + 2b + (-4a) + (-5b)

41.  7x - 3y - 9x + 8y
42.  Find the opposite of -7

43.  Find the reciprocal of -7

44.  Simplify:  (-3y)3
Remove parentheses and simplify.

45.  2a - (5a - 9)

46.  3(b + 7) - 5b
47.  3[11x - 3(4x - 1)]

48.  2[6(y - 4) + 7]

49.  [8(x + 4) - 10] - [3(x - 2) + 4]
50.  5{[6(x - 1) + 7] - [3(3x - 4) + 8]}
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Answer Key 

(1)  15

(2)  6

(3)  5

(4)  4

(5)  -15

(6)  -5

(7)  18x + 30y
(8)  40x + 24y + 16

(9)  
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(10)  
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(11)  
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(12)  
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(13)  
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(14)  
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(15)  True

(16)  False

(17)  -0.875

(18)  1
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Answer Key (continued)

(19)  -5

(20)  -3

(21)  
[image: image28.wmf]12

7

-


(22)  -4

(23)  -5

(24)  4

(25)  
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(26)  -7.9

(27)  54

(28)  -9.18

(29)  
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(30)  -210

(31)  -7

(32)  -3

(33)  
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(34)  92

(35)  62

(36)  48
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Answer Key (continued)

(37)  168

(38)  
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(39)  
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(40)  7a - 3b
(41)  -2x + 5y
(42)  7

(43)  
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(44)  (2x)4
(45)  -3a +9

(46)  -2b + 21

(47)  -3x + 9

(48)  12y - 34

(49)  5x + 24

(50)  -15x + 25
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